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LIKON 500 G 600 G 700 G

&=y t (kN) 122 (1,197) 158 (1,546) 198 (1,940)

H Y= N/cm? 99 128 160

B CHHE cm 110 x 110 110 x 110 110 x 110

= FYF cm 200 x 102 200 x 102 200 x 102

FA=E HE m3(Ei2h 345 3.45 3.45

4£210[0] Ui 5 5 5

2HE8Y kw 55 75 | 2x55 | 2x75 | 2x45 | 2x55 | 2x75 | 3x75 | 2x55 2x75 3x75

LEE HIEY (0|4 =) Z| Y 560 | 750 | 1035 | 1270 | 810 850 1060 | 1410 710 890 1210
m3/h

LHE HIEY B =) Z|CH 280 | 390 | 500 670 360 415 560 750 345 470 650
m3/h

°.=.*=’-?- EERCE)

S-S #E)

35 kg/m?, Ol) EZS OCC t/h(Bieh) | 95 | 135 | 175 | 235 12.5 14.5 19.5 26.5 12 16.5 22.5

60 kg/m3, of) Z0| Aol H7|2| t/h(CHZhH | 15.5 22 28 375 20.5 235 32 42.5 19.5 26.5 36.5

100 kg/m3, ) A2X|, &X| | t/h(Ch2hH 24 34 415 | 575 31.5 36 49 64.5 30 41.5 55.5




¢=7| T t(ChEh 40 42 44
(B4 FHO Gt o)

#2 (mm) A B C D E G H I K L M| N[JO] P R

LIKON 500 H 13111 | 2800 | 5465 | 2000 | 5437 | 6437 | 6674 | 3115 | 435 | 1100 | 3950 | 1020 | 860 | 1100 | 3390

LIKON 600 H 13752 | 2800 | 5465 | 2000 | 5952 | 6952 | 6800 | 3115 | 435 | 1100 | 3950 | 1020 | 860 | 1100 | 3390

LIKON 700 H 14497 | 2800 | 5465 | 2000 | 6652 | 7652 | 6845 | 3115 | 435 | 1100 | 3950 | 1020 | 860 | 1100 | 3390

LIKON 500 H 600 H 700 H

Pk t (kN) 122 (1,197) 158 (1,546) 198 (1,940)

H| 2= N/cm? 99 128 160

EERERE cm 110 x 110 110 x 110 110 x 110

=2 FY+ cm 200 x 102 200 x 102 200 x 102

Fd= HE m3(Ei2h 3.45 3.45 3.45

A%5210|0] = 7 5 5 5

DHEY kw 45 55 2x45 | 2x55 | 2x37 | 2x45 | 2x55 | 3x55 | 2x45 | 2x55 | 3x55 | 4x55
A=E HiEZF Ol4 =) | A mih | 430 650 780 1135 630 630 930 1265 520 775 1070 | 1320
A=E HES (ot =) | A m¥h | 290 395 540 710 395 430 580 805 355 480 675 850
o4E (B3

35 kg/m3, Of) E=fet oCC | t/h(thEh) 10 14 19 25 14 15 20 28 12 17 235 29.5

60 kg/m?, of) Z0| Al t/n(ChEh) 17 23 30.5 39.5 23 25 33 455 205 | 275 385 | 485
H7|E

100 kg/m?, Of) MEX|, &X|| t/h(Ch=h) 25 | 325 43 53.5 34 37.5 48 64.5 315 | 415 71
AH7| Y t(Ch2h 40 42 44

(Y ZHO [at ohE)

74 (mm) A B C D E G H | K L M N P R

LIKON500 H 12831 | 2800 | 5465 | 2000 | 5437 | 6437 | 6394 | 3115 | 435 | 1100 | 3950 | 1020 | 1100 | 3390
LIKON 600 H 13339 | 2800 | 5465 | 2000 | 5937 | 6937 | 6402 | 3115 | 435 | 1100 | 3950 | 1020 | 1100 | 3390
LIKON 700 H 14055 | 2800 | 5465 | 2000 | 6637 | 7637 | 6418 | 3115 | 435 | 1100 | 3950 | 1020 | 1100 | 3390




